
 
5

√3
⎯⎯మ⎯⎯⎯=

5 × √3
⎯⎯మ

√3
⎯⎯మ

× √3
⎯⎯మ

 
⎯⎯⎯⎯⎯⎯⎯⎯

               =
5 √3

⎯⎯మ

√3 × 3
⎯⎯⎯⎯⎯మ

 
⎯⎯⎯⎯⎯⎯⎯

               =
5 √3

⎯⎯మ

√9
⎯⎯మ

 
⎯⎯⎯⎯

               =
5 √3

⎯⎯మ

3 
⎯⎯⎯⎯

Multiply the top and bottom by the root in the denominator.
Only the Root!

 
4

√5
⎯⎯మ

+ √3
⎯⎯మ⎯⎯⎯⎯⎯⎯⎯⎯=

          4       × (√5
⎯⎯మ

− √3
⎯⎯మ

)

(√5
⎯⎯మ

+ √3
⎯⎯మ

) × (√5
⎯⎯మ

− √3
⎯⎯మ

) 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

                    =
4 √5

⎯⎯మ
− 4 √3

⎯⎯మ

5 − 3 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

                    =
4 √5

⎯⎯మ
− 4 √3

⎯⎯మ

2 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

                    = 2√5
⎯⎯ 

− 2√3
⎯⎯ 

 

Multiply the top/bottom by Conjugate of denominator. 
 

5

2 − √6
⎯⎯మ⎯⎯⎯⎯⎯⎯ =

     5       × (2 + √6
⎯⎯మ

)

(2 − √6
⎯⎯మ

) × (2 + √6
⎯⎯మ

) 
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

                =
10 + 5 √6

⎯⎯మ

−2 
⎯⎯⎯⎯⎯⎯⎯⎯⎯

5

√3
⎯⎯య⎯⎯⎯=

  5 × √3
⎯⎯3

× √3
⎯⎯య

√3
⎯⎯య

× √3
⎯⎯య

× √3
⎯⎯య⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

        =
5 √9

⎯⎯య

3
⎯⎯⎯⎯

Multiply the top and bottom by the cube root of the denominator 
twice. (Or three times for a fourth root etc.) 

Distribution
Foil

(𝑎 + 𝑏)(𝑎 −  𝑏) =

𝑎ଶ − 𝑎𝑏 + 𝑎𝑏 − 𝑏ଶ =
           𝑎ଶ − 𝑏ଶ

𝐹𝑂𝐼𝐿

𝑆𝑖𝑚𝑝𝑙𝑖𝑓𝑦, 𝑏𝑦 𝑑𝑖𝑣𝑖𝑑𝑖𝑛𝑔 𝑡ℎ𝑒 𝑡𝑜𝑝 𝑎𝑛𝑑 𝑏𝑜𝑡𝑡𝑜𝑚 𝑏𝑦 2.

ඥ3ଵ
⎯⎯మ

= 3
ଵ
ଶ
⎯⎯

√3
⎯⎯ 

× √3
⎯⎯ 

= 3 3
ଵ
ଶ
⎯⎯× 3

ଵ
ଶ
⎯⎯= 3ଵ

Add Exponents

√3
⎯⎯య

= 3
ଵ
ଷ
⎯⎯

√3
⎯⎯య

× √3
⎯⎯య

× √3
⎯⎯య

= 3 3
ଵ
ଷ
⎯⎯× 3

ଵ
ଷ
⎯⎯× 3

ଵ
ଷ
⎯⎯×= 3ଵ

𝑥
௠
௡
⎯⎯ = √𝑥௠⎯⎯⎯ ೙

𝑥
௠
௡
⎯⎯ = √𝑥௠⎯⎯⎯ ೙

 
5

√3
⎯⎯మ⎯⎯⎯= 2.89 =

5√3
⎯⎯మ

3 
⎯⎯⎯⎯

5

2 − √6
⎯⎯మ⎯⎯⎯⎯⎯⎯ = −11.12 =

10 + 5 √6
⎯⎯మ

−2 
⎯⎯⎯⎯⎯⎯⎯⎯⎯

(2 − √6
⎯⎯మ

) × (2 + √6
⎯⎯మ

)

4 + 2√6
⎯⎯ 

− 2√6
⎯⎯ 

− √36
⎯⎯⎯ 

4 + 2√6
⎯⎯ 

− 2√6
⎯⎯ 

− √36
⎯⎯⎯ 

              4 − √36
⎯⎯⎯ 

                  −2

1

2
⎯⎯+

1

2
⎯⎯= 1

1

3
⎯⎯+

1

3
⎯⎯+

1

3
⎯⎯= 1

÷ 2

÷ 2
⎯⎯⎯

4

√5
⎯⎯మ

+ √3
⎯⎯మ⎯⎯⎯⎯⎯⎯⎯⎯= 1.01 = 2√5

⎯⎯ 
− 2√3

⎯⎯ 
 

5

√3
⎯⎯య⎯⎯⎯= 3.47 =

5 √9
⎯⎯య

3
⎯⎯⎯⎯

Conjugate

C11 - 5.3 - Rationalizing the Denominator Notes 

   Rad Page 1    


